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97 &) 10 20 10 10 10 10 10 10 10 20 120
o7 BFN (#) 500 | 1,000 | 1,000 - 500 500 | 1,000 | 1,000 500 500 6,500
Nybava(s) 12 8 10 - 10 10 10 10 10 10 90
NI A (K) 30 30 30 - 30 30 30 30 10 30 250
A= (B0 340 660 680 - - 800 520 | 1,220 740 820 5,780
£ i (o - - 1,500 | 1,960 500 800 | 1,220 | 1,220 740 640 8,580
H okt (&) 1 1 1 1 1 1 1 1 1 1 10
HUR 1 1 1 1 1 1 1 1 1 1 10
FICBE K A 8 11 12 - 9 11 12 12 12 12 99
EEA IR Y — 1 1 1 1 2 1 - 1 1 1 10
NESEVE 5 2 5 - 1 2 3 2 3 2 25
DEEAR K - - - - - - - - - - 0
HE 50 50 50 50 - 50 50 50 50 50 450
VTR 1 1 1 1 1 1 1 1 1 1 10
a—RY— (&) 1 1 1 1 1 1 1 1 1 1 10
B 1 1 1 1 0 1 1 1 1 1 9
i 5 28 2 3 3 4 2 2 3 3 5 2 29
iR 2 2 2 2 2 2 2 2 2 2 20
Fvb 1 1 1 1 0 1 1 1 1 1 9
HigansIL) 10 10 10 10 10 10 10 10 10 10 100
TIAR=b—24 2 3 3 4 1 2 3 3 2 4 27
REH 2 2 2 2 2 2 2 2 2 2 20
Sty I AIE T - - - - - - - - - - 0
IN=U% Sk 2 3 2 2 1 2 2 2 2 2 20
P — B - 1 - 1 - - - 1 - 1 4
BV AR Vb 2 2 2 2 2 2 2 2 2 4 22
R—FTNEIR 2 2 2 2 - 2 2 2 2 2 18
V=T =) 2 2 2 2 - 2 2 2 2 2 18
ks 2 3 3 4 1 2 3 3 2 4 27
LEDIAh 1 1 1 1 1 1 1 1 1 1 10
AT 5 5 5 5 5 5 5 5 5 5 50
{HEE 3 4 4 5 2 3 4 4 3 5 37
DFECBREL 2 3 3 4 1 2 3 3 2 5 28
N 6 9 9 12 3 6 9 9 6 15 84
VIEVIT Ay a 8 11 11 14 5 8 11 11 8 17 104
FyAF—R—r 1 1 1 1 1 1 1 1 1 1 10
HE Y% 1 1 1 1 1 1 1 1 1 1 10
T —3—h 10 10 10 10 10 10 10 10 10 10 100
P 1 1 1 1 1 1 1 1 1 1 10
ke 1 1 1 1 1 1 1 1 1 1 10
AEV R TR vk 1 1 1 1 1 1 1 1 1 1 10
DRy 7 2 1 1 1 1 1 1 1 1 1 11
ZoM | EHREBOX 1 1 1 1 - 1 1 1 1 1 9
LSRN A A A A el el g g g A -
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AT OZE|EGENT (EOM | & B [ ON | EER|E B[Rl R (BT
B R & ik 1TH |Bvd—|vra—|aausks | ~ gt
i H PR s [P [P | eed—| KRG KRR
RS Bheys  (f) 3,320 | 1,400 700 | 1,100 980 280 | 1,420 2,720 | 1,420 1,000 14,340
TN ALK (TV) () 50 50 50 50 50 50 50 50 50 50 500
fE T (1) 2 1 1 1 1 0 1 - 1 1 9
REEER Ao ()] 2,030 630 420 630 560 210 770 | 2,450 840 560 9,100
T HKAF vy 60 60 60 60 60 60 60 60 60 60 600
Bk (Uyby) 1,716 528 264 420 372 120 624 | 1,185 540 348 6,117
BLs 700 300 300 300 300 200 300 500 300 300 3,500
MV (&) TL v $— 2 1 1 1 1 1 1 2 1 1 12
EE [BER 2 1 1 1 1 1 1 1 1 1 11
R A 1 1 1 1 1 1 1 1 1 1 10
ERH L —Y (1) 5 10 1 2 4 2 - - - 2 26
ARG (@MY () 20 12 10 10 10 10 10 10 10 10 112
St BB IS (1) 6,200 | 2,600 | 1,400 | 2,200 | 1,800 600 | 2,800 | 5,000 | 2,800 1,800 | 27,200
AL bt S (f) 250 150 150 200 150 100 150 150 150 150 1,600
LN (&) 11 4 2 4 2 2 4 9 4 4 16
st oK N (%) 11 5 4 5 5 4 6 10 6 5 61
Histeo A (KO L 4 2 2 2 2 2 2 2 2 2 22
st F-HH () S 3 2 1 2 1 1 2 2 2 1 17
BULISE (4% 35 9 5 8 7 3 11 20 11 7 116
ARAGS W 42 22 20 22 21 15 25 36 25 21 249
NSy B - CAVY)) 400 400 400 400 400 400 400 400 400 400 4,000
< R VAL 1 1 1 1 1 1 1 1 - 1 9
~ =V S ML 1 1 1 1 1 1 1 1 1 1 10
< ih— VA MERAL 1 1 1 1 1 1 1 1 1 1 10
A |23 () 200 100 100 100 100 200 200 100 100 100 1,300
7 (&) 20 10 10 10 10 10 10 10 10 10 110
Ry BF IV (K) 1,000 500 500 500 500 500 500 - - 500 4,500
Hevhara(f) 20 10 10 10 8 10 10 10 8 10 106
ARy HA (OR) 60 30 10 30 30 30 30 30 30 30 310
[Efaevbh () 1,520 500 140 500 - 300 840 | 1,680 - 500 5,980
il o 1,520 500 140 500 - 140 700 | 1,320 - 500 5,320
H it (x) 2 1 1 1 1 1 1 1 1 1 11
e 2 1 I 2 1 1 1 - - 1 10
FCBE K A 21 10 5 8 5 7 10 - - 7 73
GAA IR Y — 2 1 1 1 1 1 1 1 - 1 10
NESEVE 3 2 3 2 2 2 2 2 2 2 22
DEEAK 1 - 1 - 1 - - - - - 3
HE 100 50 50 50 50 100 50 50 50 50 600
FEVEE T2 1 1 1 1 1 1 1 1 1 1 10
a—R)— () 2 1 1 1 1 1 1 1 1 1 11
B 1 1 1 1 1 1 1 1 1 1 10
| 5 R A8 4 2 2 2 2 1 2 3 2 2 22
iR 2 2 2 2 2 2 2 2 2 2 20
T b 2 1 1 2 1 1 2 1 1 1 13
1Y 10 10 10 10 10 10 10 10 - 10 90
TIAN—NL—A 4 2 1 2 1 1 2 7 2 1 23
IR 2 2 2 2 2 2 2 2 2 3 21
Ny WA TR - - - - - 1 1 - - - 2
PNV S 3 2 2 3 2 2 3 2 2 2 23
Py BN - - - - - - - - - 1
AV AR Vb 2 2 2 2 2 2 2 2 2 2 20
R—HTIVER 2 2 2 2 2 2 2 4 2 2 22
V—F—3%) 2 2 2 2 2 2 2 4 2 2 22
WKz 4 2 1 1 1 1 2 3 2 1 18
LEDIAk 1 1 1 1 1 1 1 1 1 1 10
ST 5 5 5 5 5 5 5 5 5 5 50
HERE Al 5 3 2 3 2 2 3 9 3 2 34
ECPREL 4 2 1 2 1 1 2 8 2 1 24
YN 12 6 3 6 4 4 6 24 6 4 75
Iy T4y 14 8 5 8 5 5 8 28 8 5 94
FyAF—R—r 2 1 1 1 1 2 1 1 1 1 12
HE vy ¥ 2 1 1 1 1 2 1 - 1 1 11
)= —F 10 10 10 10 10 10 10 20 10 10 110
L AF2—Fvh 2 1 1 1 1 2 1 1 - 1 11
Gk 1 1 1 1 1 1 1 1 1 1 10
ABLRIAT Ty 1 1 1 1 1 1 1 1 1 1 10
DigRy 7 1 1 1 1 - - 1 1 1 1 8
ZOfh | FEREEBOX 1 1 1 1 1 1 1 1 1 1 10
LoD el f f f f f el el f f
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BEEERT EH O E MR | A B[R E
T ¥ NoE | A E
i H BRI AR IEKR 8RB
TA77Ek (TV) (&) 50 50 50 50 50 250 2,500
T+ () 1 1 1 1 1 5 49
WEEEH FHE A () 980 560 210 | 1,120 | 1,470 4,340 63,210
GHKATF VY 60 60 60 60 60 300 2,700
fIEK (Uv i) 624 375 120 756 960 2,835 42,307
N 400 300 200 400 500 1,800 23,400
Bvs (/) 7LV — 1 1 1 1 2 6 78
XS b Y 1 1 1 - 1 4 46
PR A 1 1 1 1 1 5 45
ERAL—Y () - 2 5 - - 7 343
AR R (R 10 10 6 - 10 36 459
Je PGS (1) 3,200 [ 2,000 600 | 3,800 | 4,800 14,400 | 200,000
R b= $— () 150 150 50 50 150 550 6,600
Ui () 5 4 2 6 9 26 372
#ste RN () 6 5 4 8 9 32 400
Histe > FH (B L 2 2 2 2 2 10 125
#ist O FIH (B S 2 1 1 2 2 8 108
BLWSE () 13 7 3 15 19 57 835
A (3 27 21 15 31 36 130 1,551
NHESE  (Ry)) 400 400 400 400 400 2,000 18,000
< — VAL 1 1 - 1 1 4 49
<~ = VG ML 1 1 1 - 1 4 44
< s— VA IME AL 1 1 1 - 1 4 44
AT AL |48 (#0) 100 100 100 100 100 500 5,400
797 ) 10 10 10 10 10 50 510
oy EF I (#) 500 500 500 - 1,000 2,500 28,000
kyhava(f) 10 10 4 - 10 34 422
YRR (&) 30 30 12 - 30 102 1,222
[Effi~vb () 420 220 80 - 700 1,420 34,760
Bl (K0 780 - 140 - - 920 41,850
BB (x) 1 1 1 1 1 5 46
BT 1 1 1 - 1 4 45
HICBIA AR 12 7 2 - 12 33 413
e I e o 1 1 1 1 1 5 49
NELE VL 2 2 2 - 3 9 121
PEERE - - - - - 0 4
HE 50 50 50 50 50 250 2,300
VTR 1 1 1 1 1 5 45
a—K)— (&) 1 1 - - 1 3 44
B 1 1 1 - 1 4 44
fii 5 a8 2 2 1 - 3 8 128
iR 2 2 2 2 2 10 90
T b (5%) 1 1 1 - 1 4 47
k) )} 10 - 10 - 10 30 420
TIAN—PL—24 2 1 1 2 3 9 125
TR 2 2 2 2 2 10 92
Tty b ARS R - - - - - 0 2
NS PN 2 2 2 1 2 9 92
S — B - - - - 1 1 20
AV ARG YR 2 2 2 2 2 10 100
R—F T VER 2 2 2 2 2 10 92
V—F—rR)L 2 2 2 2 2 10 92
ks s 2 1 1 2 3 9 120
LEDZAh 1 1 1 1 1 5 45
[ EE AT 5 5 5 5 5 25 225
MEEAIAd 3 2 2 3 4 14 171
DIFELIREL 2 1 1 2 3 9 130
AR 6 4 3 6 9 28 395
VTN Ay a 8 5 5 8 11 37 482
Xy AF—R—r 1 1 1 1 1 5 47
MESyo¥ 1 1 1 1 1 5 46
7 —3—h 10 10 10 10 10 50 460
L AF 2—F vk 1 1 1 1 1 5 46
Grokas 1 1 1 1 1 5 45
AL R T vk 1 1 1 1 1 5 45
DA 7 1 - - - 1 2 41
oM | KEREABOX 1 1 1 1 1 5 44
LD el el Gl Gl A
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. 2 UGREEERTE By (RRAER R R )
BEEET 4
VR (R D M = (BRI B AT B TR |emin s |esawuan | 77T [ TR (7L 22 [TanE | F
i H DA
B (&) 240 280 700 340 | 1,260 160 320 260 280 880 220 220 5,160
fofmn LS HE 2o () 140 140 350 210 630 140 210 140 140 490 140 140 2,870
N T U D) 312 384 972|480 1,776 228 | 456 | 360 396 | 1,272 288 288 7212
TKAF VT 30 30 30 30 30 30 30 30 30 30 300
0
P [ () 50 50 50 50 50 50 50 50 50 50 0 0 500
L) oy TSR 1 1 1 1 1 1 1 1 1 | 0 0 10
PhESE  (Sy) 400 400 400 400 400 400 400 400 400 400 0 0 4,000
0
AFEM [Effi~oh (B0 120 140 340 160 600 80 160 120 140 440 100 100 2,500
£ A (#0) 120 140 340 160 600 80 160 120 140 440 100 100 2,500
R—FT)VER 2 2 2 2 2 2 2 2 2 2 0 0 20
Zzoft [Y=F—,3%/L 2 2 2 2 2 2 2 2 2 2 0 0 20
LEDI A 1 1 1 1 1 1 1 | 1 1 0 0 10
ikl - ST
. JREREEF R MR E sy (—RRRTEME R R E)
R4 st | g | L | | P e | SR | gy | =
o | g | BRI | ST s | ARIK | B B ok | e | OETX [AT2T R bgpg—2 ]
BEH | S| Tp | 6T Lo on ag | e [T T | e | BES | T | g | g | O
HH i it Z— LA B i ) - : R
IREREEE HEArvh 2001 300 300 400] 2,00 800] 2,000 35001 600 500 300] - - 11,000 | 11,000 33,000
emn (X 96| 156 156 4207 1,032] 408 | 1,008| 1440 600] 252] 156] 516 600 5500 11,000 23,340
R T e - - - - - - - - - - - 1,050 2,100 - - 3,150
TN 7 KAEZFA - - - - - - - - - - - - - - 11,000 11,000
B BEH ) 1 1 1 1 1 1 1 1l - 1 1 - - - - 10
M o s s ) 1 1 1 1 1 1 1 1 - 1 - - - - - 9
TINIT T b 200 300 300 400 | 2,100 800 | 2,000 | 3,500 600 500 300 - - 11,000 - 22,000
ATER S 2ok - - - - - - - - - - 1,200 [ 300 - - - 1,500
EAi - - - - - - - - - - 1,200 | 1,200 - - - 2,400
iy 300 300 900 300 300 300 300 300 - 300 - - - - - 3,300
zo |22E 100 100[ 100] 100l 300] 200] 300[ 500 - 100 100 - - - - 1,900
- ot DR B R SRR A 1 1 1 1 1 1 1 1 - 1 - - - - - 9
RESN i3 3 A el f f £ sl izl £ A - - - 0
fick - SR
(2) HAXEHFMEREKR [{TEEHE]
7. IR ETE KSR EIR (AL« AR)
BB ESBEE] #B3E Xl 7t
FRIE AL 116 345 783 1, 244
() JEHIE LT 1 0 0 mAECRflicikiE feikh - SRR
. KRIE K ERER IR DL (AT B)
oK ALK R HBIX 1)1 X T H X &
RIE B 38 35 28 1 102
fek - 8 AR
V. DARARA T e R H L RS TERERI (B &)
D #&FTHe AR AL RRA T
50 59
() RARFTATE, BRI ISR E fork - RERRG
(3) X7 B E R
X romp | HER | E BIA RS B|A | AREG|REE|FE M| B E|WE A F
) 11 9 21 19 14 14 13 28 24 24 22 199
5 5 # 11 6 20 18 14 14 13 28 24 24 22 194
FERE (%) 100 67 95 95 100 100 100 100 100 100 100 97
fikk - SEERHRE
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(4) BEHXAEREERNERE

4 J:3 26 27 28 29 30
WO % 0 0 0 0 0
2 #t 194 194 194 194 194

(56) MNEEHREERREIKR

G2 E 26 27 28 29 30
wrEHE S () 41 18 11 12 7
A S ON) 98 27 20 20 10

B HEFITRT L, ﬁm(%ﬁ W, HE) BN EORRE (L8 - B8 - IRE. R FRAIET fik - SERFRFR
R4 (30, 0O00M+-15, 0O00HM+-10, O00H -5, 000M) AT 5

(6) BikELDICY (B - H5)
g 26 27 28 29 30
H B SR AR e 2 4 — — — _
(1) Pk 26 FEER T H 3, MR G 27 7R

(7) TERZH - MEMERE - MEREIEPR [ITHREE]

7. REEEEICKT DMEZE - IHEAMARR G - RS S LB (AL« 1)
FE 26 27 28 29 30

[F=g 61 75 75 76 59

it EEAHIRGER & 6 4 6 4 6

MRS e 7 2 3 49 49

(1) MEATRAEHL 26 4225 FEi REGR

Rk 29 RS K0 M ERUUE S (S I3BR A &2 & e

A . BRCUERIER - FREREEITT DIEZE - MERATRREE - MR UE L5259 2 Bpkik

(BT« 1)
®E 26 27 28 29 30
M =2 W 39 18 9 2 0
M ER A IR 25 8 3 9 6
MR U e 15 23 6 7 3
(FE) PR 23 FRFE K 0 FERAG, FrE EWIIMIERZ I O 2B Ak HREHGR

MRS EE TR b & e
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